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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� NHVHVXDLDQ� SHQHUDSDQ� 36$.� ��� �UHYLVL�

����� DWDV� DVHW� WDN� EHUZXMXG \DQJ� GLODNXNDQ� ROHK� 37� .$672&�� 3HUQ\DWDDQ� 6WDQGDU�

$NXQWDQVL� .HXDQJDQ� �36$.�� �� PHUXSDNDQ� VWDQGDU� \DQJ� WHODK� GLWHUDSNDQ� ROHK� ,NDWDQ�

$NXQWDQ�,QGRQHVLD��,$,��GDODP�KDOQ\D�SHQJDNXDQ��SHQJXNXUDQ��GDQ�SHQJXQJNDSDQ�DVHW�WDN�

EHUZXMXG VHEDJDL� SHGRPDQ� SHUXVDKDQ� GDODP� PHQ\XVXQ� ODSRUDQ� NHXDQJDQ�� 0HWRGH�

SHQHOLWLDQ� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� PHWRGH� NXDOLWDWLI� GHQJDQ�

PHPEDQGLQJNDQ�DQWDUD�3HUQ\DWDDQ�6WDQGDU�$NXQWDQVL�.HXDQJDQ��36$.� ����UHYLVL������

GHQJDQ� SUDNWLN� \DQJ� GLODNXNDQ� ROHK� 37� .$672& WHUKDGDS SHUODNXDQQ\D� DWDV� DVHW� WDN�

EHUZXMXG�VRIWZDUH (FRXQW (53��+DVLO�SHQHOLWLDQ� LQL�PHQXQMXNNDQ�EDKZD�37� .$672&

EHOXP�PHQHUDSNDQ� 36$.� ��� �UHYLVL� ������ WHQWDQJ� DVHW� WDN� EHUZXMXG� DWDV� SHQJDNXDQ��

SHQJXNXUDQ��SHQJXQJNDSDQ�
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